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Code : 221‘101; d) Show that population inversion is
L . _ 5s 7~ not possible by direct excitation from
. ' a lower to higher level.
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{b)  Derive the expression of intensity at
~a point for Fraunhofer diffraction due
_ to double slit. Draw the intensity
- distribution curve ang explain it.
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4. 'U State Malus’ law and'&éﬁe it.

) fBiscuss“' Nicol "Pﬁsmﬂ“ polarizer and
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7. (ﬂ) Obtain ‘the expression for stationary
energy levels for particle of mass m
- which is free to move in a region of zero
‘' potentiak between two rigid walls at
x=0 and, x=1. Are the energy levels
deg : Mbm -
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f‘b) -Prove . M -the wave function

\F(X, 8 = Acos(kx - mt) does not

isfy the tune-dependent Schxﬁdmger
'eigiﬁaﬁw for'a free particlé!
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